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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Define following : (Any seven )

(1) Fluid (2) Hydro dynamic (3) Density (4) Specific Weight

(5) Surface Tension (6) Vapour Pressure (7) Specific gravity (8) cohesion
(9) Compressibility (10) Capillary action

Explain Pressure, Pressure intensity and Pressure head .Establish the
relationship between them.

A square plate is immersed vertically in water such that its upper edge is
3.00 MT below the free surface of water. Area of the plate is 16 m?.Find the
total pressure acting on the plate and the depth of Centre of pressure from
free surface.
Write down the difference device of pressure measuring equipment and
Explain any one in details.

OR
Explain with the line diagram Atmospheric pressure, Gauge pressure and
Absolute pressure.

Explain Energy of liquid when it is in motion with formule.
Write the Bernoulli’s equation and prove it.

OR
Write assumtions and limitations of Bernoulli’s equation.
A 4 mt long pipe is inclined at 20 degree to horizontal .Lower end dia is 8.00
cm and dia of upper end is 24 cm .Determine the difference in pressure
between two section if pipe is uniformly tapering and velocity of liquid(sp
gravity 0.80) at smaller section is 1.00 m/sec.

Define the relation between Cc(Co-efficient of contraction), Cv(Co-efficient
of velocity),and Cd((Co-efficient of discharge) and give the average value of
Cc, Cv, and Cd.
Write down the the practical method to find out Hydraulic co-efficient in the
laboratory.

OR
Explain laminar flow, Turbulent flow and velocity distribution laminar and
turbulent flow.
Explain various head loss in flow through pipe.

Give the classification of open channel.
Write short note : (any two)
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(1) Froude No. (2) Hydraulic mean depth (3) Most economical cross
section of channel(4) Specific energy diagram (5) Hydraulic jump
OR
In trapezoidal open channel having the base width 3.00 mt and side slope
1:1. Depth of water is 1.00 mt. Find out the discharge if bed slope is 1:1000
and value of N=0.04
(b) A rectangular wier 4.00 mt long is used to measure the rate of flow of water. 07
The head of water over the weir is 30 cm . Find the discharge.(Take Cd=0.6)
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